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- ~Java#F;ViF 3 & dynamic dispatchinge - T & 7 Java 4% ;¢ %J I I e s E RS £
## dynamic dispatching - (20 & )

import java.lang.*;

classAl {
public void accept(B1 V, C1 W) { System.out.println("1.\n");
V.visit(W, this); }
public void accept(B2 V, C2 W) { System.out.println("2.\n");
V.visit(W, this); }
public void accept(B3 V, C3W) { System.out.printin("3.\n");
V.visit(W, this); }
}

classA2 extendsA1l {

public void accept(B1 V, C1 W) { System.out.println("4.\n");
V.visit(W, this); }

public void accept(B2 V, C2 W) { System.out.println("5.\n");
V.visit(W, this); }

public void accept(B3 V, C3W) { System.out.printin("6.\n");
V.visit(W, this); }

}

classA3 extends A2 {
public void accept(B1 V, C1 W) { System.out.printin("7.\n");
V.visit(W, this); }
public void accept(B2 V, C2 W) { System.out.printin("8.\n");
V.visit(W, this); }
public void accept(B3 V, C3 W) { System.out.printin(*9.\n");
V.visit(W, this); }
}

classB1 {

public void visit(C1 W, A1 U) { System.out.printin("11.\n");
W.inspect(U, this); }

public void visit(C2 W, A2 U) { System.out.printin("12.\n");
W.inspect(U, this); }

public void visit(C2 W, A3 U) { System.out.printin(*13.\n");
W.inspect(U, this); }

public void visit(C3 W, A3 U) { System.out.printin(*14.\n");
W.inspect(U, this); }
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class B2 extends B1 {
public void visit(C1 W, A1 U) { System.out.printin("15.\n");
W.inspect(U, this); }
public void visit(C2 W, A2 U) { System.out.printin("16.\n");
W.inspect(U, this); }
public void visit(C2 W, A3 U) { System.out.printin("17.\n");
W.inspect(U, this); }
public void visit(C3 W, A3 U) { System.out.printin(*18.\n");
W.inspect(U, this); }
}

class B3 extends B2 {
public void visit(C1 W, A1 U) { System.out.printin("31.\n");
W.inspect(U, this); }
public void visit(C2 W, A2 U) { System.out.printin("32.\n");
W.inspect(U, this); }
public void visit(C2 W, A3 U) { System.out.printin(*33.\n");
W.inspect(U, this); }
public void visit(C3 W, A3 U) { System.out.printin(*34.\n");
W.inspect(U, this); }
}

class C1 {
public void inspect(A1 U, B1V)
{ System.out.printin("41.\n"); }
public void inspect(A2 U, B2 V)
{ System.out.printin("42.\n"); }
public void inspect(A3 U, B3 V)
{ System.out.printin("43.\n"); }
}

class C2 extends C1 {
public void inspect(A1 U, B1V)
{ System.out.printin("51.\n"); }
public void inspect(A2 U, B2 V)
{ System.out.printin("52.\n"); }
public void inspect(A3 U, B3 V)
{ System.out.printin("53.\n"); }
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class C3 extends C2 {
public void inspect(A1 U, B1V)
{ System.out.printin("61.\n"); }
public void inspect(A2 U, B2 V)
{ System.out.printin("62.\n"); }
public void inspect(A3 U, B3 V)
{ System.out.printin("63.\n"); }

}

class Demo {
public static void main(String[] arg) {
A28 B2b; C2c;

a=new A3();
b =new B3();
c =new C3();

a.accept(b, c);
}

} // end of the Demo class

= O R T e e Scheme 2R T g% S W 7 (10 ~ )

(define x 0)
(+ 5 (call/cc (lambda (cc)
(set! xcc)6)) )

(* 8(* 9(+ 10 (x 35))))
ORFFAARNZE BFEAFT T N 25X 52?2 (104)
(+8(-9(* 12(x 31))))
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1.S::=ABC

2.A :=dB
3A.=e
4B ::= Af
5.B:i=g¢
6.C::=h

COFE T CRANFAESLAA? (104)
#include <stdio.h>

int a, b;
void main() {
a=4;
b= 30;
printf("Before the switch statement, a= %d.\n", a);
switch (a) {
case 1: a=a*10; break;
case 2. a= a*10; break;
case 3: a=a*10;
while(a<b)case4:{ a=a+5;} break;
case 5: a=a*10; break;
default:
b=a*10; break;
} // end of switch
printf("after the switch statement, a= %d.\n", a);

}
DR HRART & CHHEt o R F AR el A S e 2 (10 4)
#include <stdio.h>

classA{
public:
int X;
AQ){ X =1, printf("X = %d\n", X); }
3

classB : public A {
public:
B() { X =2; printf("X = %d\n", X); }
b
main()
{
B * pB = new B,;
}



